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Ul4quauer w Nh3Lutr
(Ukphuyugyusd ku 22 npudn)

Spurdwpyws bpwphuhplbp *

Gpwojuhputinh npudwnpnid”

w) ppudwlpull Uponghkph nkyninugdunlp

-Uhtsk 90 op dwpdwt dudljtwnny

0,3% /Uhutjug/ tjuqugnijup 10,000

-91-hg 180 op dwpdwt dudljwnny

0,5%/Jhwtiduq/ uJuqugnijup 10,000

-181-hg 270 op dwpuwt dwdljtiny

0,7%/hwtuduq/ uJuqugnijup 10,000

-271-365/366 op dwpdwb dwdljtnny

1% /Jhwtdug/ tjuqugnijup 10,000

-365/366/ ophg wyk) vwpdwt dudljnny

1% /nwupbkljut/ tjuqugnijup 10,000

P) wy] dponglilph gpuijunpdudp

3% wnwupklwl, tJuqugnyup 10,000

12 | Gpwouhph wuylwbitph 250
thnthnjunipjnit dundjnnh Epjupuwdgdut jud gnidwuph
wybjugdw niypmid jpugnighs Yquuddh
wykjugws dudubtwjuhunyush/qnidwunh
tjuundudp huydupljus
hudwywwnwuwbt npudwunpdut
Uhgunprujdwp
1.3 | dgwupnd yywhwbgh ghuiwg 0,15% uJwqugnijup 50,000
14 | Gpwohuhph htwn Jubsnid /sknjuijugnud/ | 50,000
15 | Gpwojuhph hwutnwwnnd tppnpn putifh | hwdwdwb wuyjdwbwynpjusnipjut
Ynnuhg
2| Uy pwtlytphg uinugws bpuphuhplbip
2.1 | Gpupluhph /uyny pynid jmpupwbymp | 15,000
thnthnjunipjut/ Swtnignid
2.2 | Gpwoluhph tkppn Jdwpdwt ywhwbeh | 20,000
Juqunid
2.3

Gpwojuhph hwuwnwwnnid «Unudkpu
Puitly» ®LC-h §nnuhg

hudwdwjt wuydwtwynpdusénipjuh

! Unyl vwlwqubpp mupwdynid b twlb Muwhniunwght wypbghnhydukph (Standby LC) pnnupldwi
gnpdwpplbkph pu:
2 dpudwlub dhongubiph nhyniugdudp npudwunpws puiljught kpupjuhptph gpudin wy gpuagny
thnuwphubn ghypnud ppujubwgdnud Ewupudugpdwt dhpunpnuyfwph quidnid” wy) gpuynyg
wywhnyywé kpuwpuhputph hwdwp vwhdwdws b ppudwujut vhgngubph uvuntgdwdp Epwohithph
npudugpdut hwdwp quiddus dhounppudwph nwuppipnipyut swthny:

Gppnpn puwtltph vhotnpnuddwputipp b thnunnwht/juwh swpubtpp quudynid Eu
[pugnighs pun npuitg thwuwnwgh Ukdnipyui:




